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Ideals for irreducible component#ﬂ)f Xpar

I = (w® +u® 4+ +3u+1)

* 1 irreducible components of dim¢ = 0, with total 33 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(w?4+u%+..-+3u+1)

(i) Arc colorings

o= (1)

1

a10 = \ 0
1

ag == u
a4 = <u3 >

U
ag =

(u4 +u? + 1>

ub + u? —l— 2u +1
ar = —ub —u?

ud + b —i— 3u +2u?+1
a1 = — out

ul” + 2u15 + 7u13 +10u! + 1502 + 1447 + 10u® + 4u® + u
az = —5ul® — 4t — T — 4w — 2ud +u

10+u +4u6+3u4+3u +1
ag = 2u10 — 6ub — 3u* — 2u?
8u15 12013 — 21utt — 2209 — 200" — 12u® — 5ud — 2u
as = u?t +3u® + -+ 3ud +u
—2u'7 — 8ul® — 12413 — 21wt — 220° — 200" — 12u° — 5ud — 2u
as = u?t +3u® + -+ 3ud +u
(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u3? — 12030 + 4u?® — 56u?® + 12u?7 — 124u?® + 52u2® — 300u* + 108u?3 — 500u?? +
240ut — 792120 + 35209 — 988u!® + 49207 — 1084u' + 492u!> — 988wl 4 432013 —
736u'? + 264u't — 48400 + 116u° — 232u® + 44u” — 128ub — 48u* + 12u® — 20u? — 8u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cs B u o —u+1
Ca, €4, Co u 4+ 9uP 4+ a1
€3, ¢ WP P b Bu 1
C7,C8,C10 U3377U32++’LL+1
C11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, ¢ yB 02 4y 1
€2, C4, Cg yBP 431y 4+ 1Ty — 1
€3, Co v+ Ty 4y —1
C7,C8,C10 y33+39y32 4+ 449y —1
C11




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.538436 + 0.8194821

—2.15523 — 4.538431

—7.17107 + 8.794631

IS

0.538436 — 0.8194821

—2.15523 + 4.538431

—7.17107 — 8.794631

<

—0.450188 4- 0.9347751

4.86391 + 2.096121

0.30900 — 3.394921

~
IS

—0.450188 — 0.9347751

4.86391 — 2.096121

0.30900 + 3.394921

—0.015816 + 0.9478221

7.27301 4 3.051121

4.25923 — 2.856801

—0.015816 — 0.9478221

7.27301 — 3.051121

4.25923 + 2.856801

0.477472 + 0.9411511

4.50867 — 8.174651

—0.67620 + 8.478381

0.477472 — 0.9411511

4.50867 + 8.174651

—0.67620 — 8.478381

0.581653 + 0.6185671

—2.78816 + 0.300491

—10.41364 — 0.780131

0.581653 — 0.6185671

—2.78816 — 0.300491

—10.41364 + 0.780131

—0.422763 4 0.7354701

0.00215 + 1.657531

—0.44649 — 4.301871

IS RS ESE R B -~ E~

—0.422763 — 0.7354701

0.00215 — 1.657531

—0.44649 + 4.301871

~
IS

0.655708 + 0.4026591

2.81758 + 3.977771

—4.79341 — 2.842161

0.655708 — 0.4026591

2.81758 — 3.977771

—4.79341 + 2.842161

—0.132896 + 0.7511281

1.09758 + 1.451107

2.34671 — 6.183901

—0.132896 — 0.7511281

1.09758 — 1.451107

2.34671 + 6.183901

0.890476 + 0.8700441

—3.73457 — 0.994861

—3.97712 + 2.182881

0.890476 — 0.8700441

—3.73457 + 0.994861

—3.97712 — 2.182881

—0.903629 4 0.8722481

—4.45571 — 5.034911

—5.18044 + 2.785981

—0.903629 — 0.8722481

—4.45571 + 5.034911

—5.18044 — 2.785981

IS RS ESE R B A~

0.870063 + 0.9192181

—7.65546 — 3.222311

—3.72780 + 2.457211

~
IS

0.870063 — 0.9192181

—7.65546 + 3.222311

—3.72780 — 2.457211

—0.895123 4 0.9104821

—11.01940 4 0.061681

—9.88848 + 1.089111

= —0.895123 — 0.9104821

—11.01940 — 0.061681

—9.88848 — 1.089111

—0.627175 + 0.3488961

3.06985 4 1.875611

—4.30897 — 2.694371

—0.627175 — 0.3488961

3.06985 — 1.875611

—4.30897 + 2.694371

0.851374 + 0.9627881

—3.44108 — 5.450301

—3.45886 + 2.656911

0.851374 — 0.9627881

—3.44108 + 5.450301

—3.45886 — 2.656911

—0.880262 +- 0.9423851

—10.91700 + 6.494271

—9.56969 — 5.966591

IS RS ESE R B A~

—0.880262 — 0.9423851

—10.91700 — 6.494271

—9.56969 + 5.966591




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.859204 + 0.9695851

—4.14461 + 11.546201

—4.60672 — 7.468711

u = —0.859204 — 0.9695851

—4.14461 — 11.546201

—4.60672 + 7.468711

u = —0.356251

—0.925837

—11.3920




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cs uB 4+ —utl
Co, Cq, Cg WP+ o+ u+1
¢s3, Co PP+ 4+ 3u+1
C7,C8,C10 W put1
C11




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,¢5 v -9yt by — 1
C2,C4, Cg B 43132+ 1Ty — 1
€3, C9 YR+ Ty ey =1
c7,08,2(; y3 £ 39y%2 .. 149y — 1




